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F‘ 11 :}%/\J: XP{]O)EFVIM,E\}VF'%O)EEHE% dLT7. — Find the coordinates of the common point of the following two circles.
Find the positional relationship between the circle (A) with radius 2 MR 9 e 9 9 . . o
centered at the origin and the next circle (B). ﬁu% x2 + Y 5=0,x + Y 6 x 2 Y 15=0
A % The distance between the centers of the circles is d.
M (A), (B) D L& ZAZM, ry,rg & T 5. (22 +92—5 )= (22 +y7—86x—2y—15)
e En bA N
i [ 7 =6 x+2y+70=0
O (x+4)P+y*=1" O (x—5)+y*=1?
LoT, y=—3x—5 w5,
Hwd La A W
s oa(—4,0), 24 7 Pk s s
center radius R LT 5 x? +(*3 x —5 ) =5
7 )
d=vV(4 +0° =4 #32 L, 70x? +30 x+20=0
4>247 & 43 axt2=(x+7)(x+2)=
xh xh s e bk
HA)EAB AL T L5, mMEROHBL x=—/,-2
seperated
x=—/ orE, y=—3 x(—7 )—5=2
Xd>rytrg
x=—2 orE, y=—3 x(—2 )—5=1
FrowIrTh RO
@ (x+32+32=12 |@ (x—4)+ 2= 22 sxsoper (- ,2).(-2,7)
Hwd La A W bAE
e ou(—=3,0), 2 7 ME 2+ y2—5=0,22+9y2—4x+2y—5=0
center radius
d=v(3) +0° =3
3=2+7 &
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circumscribe

Xd=rytrg

@ (x4 1)% + 52 =12 @ (x— 2) + y2 = 42
Hwd L [EYINAN
woo(—7,0), ¥4 7

center radius

d=vV(/) +0° =7
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inscribe

@ x> + ¢ = 32 @ (x— 1)+ y2 = 42
Hwd L [EYIAAN
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center radius

d=v0" +0° =0
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Find the equation of the following circle. Find the coordinates of the common point of the following two circles.
v Hwd LA Zh AU o EOAR =
i hLn(2,6) THa2 4+ y2= 1012533 Bl a2+ y2— 10= 0,22 +y2—4x—8y+10= 0
center “eircumscribe
12 T L&
Pq@jfﬂt‘zt%*&)i (xz +y2*/0 )*(xz +y2*4 x*gy+/0)
Zh Hwd LA FA Th A T
Aal +y'=70 3 F SRR, FE& VIO B B
XA BedLAMA  EI b =4 x+8y—20=0
220 M0 P oM oEEEd=y2" +¢* =2V70
Zh A T . , I - .
XHrROtRET LT H L Md=r+r Fo T xE Y s BEs
EniZw 5
V70 =71 V70 r =10 KL<, (2945 ) +y—10=0
b & IE5 T L&
D T — b 2:]0 LA
twamorEie (x—2 Y+(y—6) ®® Lo, 5y —20y+75=0
b Hwd LA A ED
B 0 (4,2) T a2 + 52— 4 1CABET S
W i) ’ vty ra=(y 1) (v -3 )=0
D HFRERXERD X, o b
mrRXowsdL y=7,3
y= 7/ ot g, —2 X ]+5= 3
y= 30k &, x=—2 X3 +5b= —/
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sgeoper (3,7).(=7,3)
HAE N
ME a2+ y2—25=0,x2 +y2—2x—14y+25 =0
EOUAN = Hwr L . Rl f;b\ﬁj
e dnas(1, )T“P% a2+ y2=20 I NEET B
@ 5 T LE inscribe
Mo kfds ko L,
Zh Hwd LA FhA Th A T
M’ +y2=20 & 7 SHRE, FE& V20 =2V5
XA BwOILAMA  EX Y
2opAD F B oEREd =Y/’ +27 =V5
Zh A T
T\&)épﬂ@#@\%rk@“ék Xd=r'—r
v5 =2V5 —r r=v5
b 12 T L
$wsAorEie (x—7 V+(y—2)V=s
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Aﬁ@i%_ﬁ b (3,4) TH a2 4+ y2= 100 ICNHET 5
XA B3 TLLE b
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Find the positional relationship between the circle (A) with radius 3
centered at the origin and the next circle (B).

*The distance between the centers of the circles is d.

Let the radii of circles (A) and (B) be r, and ry, respectively.
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inscribe

Kd=ry—
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©) (x—2)2+y2

@ (x—4)? + 5% =12

Hwd L
F (4,0

center

A T
, BT

radius

d =+ +0°

4=3+7 &N

H(A) L HB) A ET 5.

circumscribe

d=rytrg

@ (x—5)2+ y2 = 22

©® (x+2) +y*=2°
a%ﬁig(gﬁz

center

d=v(2) +0

3—2<2<3+24&

A T
0), 4% 2

radius

Zh Zh ERY
H@A):rABEEZEDLD

intersect

>:< rA*rB<d<rA+rB

@ (x+ 1)+ 2=

@ x2—|—(y—1)2=12
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, FAE 7

radius

a%ﬁig( 0 ,/

center

d =10 +/

1<3—7 &
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Find the coordinates of the common point of the following two circles.
=
BlE x>+ y2—20=0,22 +y2+4x—4y—12=0
(22 + 9220 ) (&2 + 9y +4x—4y—172)
=4 x+4y—§&=0
Lo, y=x+2 &5,
ﬁ@xwa 2
wooLt, o4 (x42)—20=0
REAN]
#i@ L, 2x* +4x—76=0
x? 42 x~(8’:(x~2 )(x+4 ):
A b
BmEXDHBHEL x=2,—4
x= 2 otg, x=2+2=4
x= —4 okE, x=—2 +2=-—
FrowIrTh E0x 9
agsopre (2,4).(-4,2)
b
M 22+ 3y2—20=0,x2 +y2—12x—4y+20= 0







